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.SUBCKT inv4PBF A Y

M1 Y A VSS1 N2 nchl L=0.14u W=3.36u M=1
M2 Y A VDD1 N1 pchl L=0.14u W=6.4u M=1
.ENDS

.SUBCKT nand4P A BCD Y
M1 Y D 1 VSS1 nchl L=0.14u W=1.08u M=1

M2 1 C 2 VSS1 nchl L=0.14u W=1.08u M=1

M3 2 B 3 VSS1 nchl L=0.14u W=1.08u M=1

M4 3 A V381 VSS1 nchl L=0.14u W=1.08u M=1
M5 Y A VDD1 VDD1 pchl L=0.14u W=1.22u M=1
M6 Y B VDD1 VDD1 pchl L=0.14u W=1.22u M=1
M7 Y C VDD1 VDD1 pchl L=0.14u W=1.22u M=1
M8 Y D VDD1 VDD1 pchl L=0.14u W=1.22u M=1
.ENDS

.SUBCKT SELECTOR DO D1 D2 D3 SELO SEL1 SEL2 SEL3 SEL4 SEL5 SEL6 SEL7 SEL8 SEL9
Xinvx4P_1 DO DLO inv4PBF

Xinvx4P_2 DLO DHO inv4PBF

Xinvx4P_3 D1 DL1 inv4PBF

Xinvx4P_4 DL1 DH1 inv4PBF

Xinvx4P_5 D2 DL2 inv4PBF

Xinvx4P_6 DL2 DH2 inv4PBF

Xinvx4P_7 D3 DL3 inv4PBF

Xinvx4P_8 DL3 DH3 inv4PBF

Xinvx4P_9 N80 SEL1 inv4PBF

Xinvx4P_10 N87 SEL2 inv4PBF

Xinvx4P_11 N94 SEL3 inv4PBF

Xinvx4P_12 N101 SEL4 inv4PBF

Xinvx4P_13 N108 SEL5 inv4PBF

Xinvx4P_14 N115 SEL6 inv4PBF

Xinvx4P_15 N122 SEL7 inv4PBF

Xinvx4P_16 N129 SEL8 inv4PBF

Xinvx4P_17 N136 SEL9 inv4PBF

Xinvx4P_18 N73 SELO inv4PBF

Xnand4X1P_1 DL3 DL2 DL1 DLO N73 nand4P
Xnand4X1P_2 DL3 DL2 DL1 DHO N80 nand4P
Xnand4X1P_3 DL3 DL2 DH1 DLO N87 nand4P
Xnand4X1P_4 DL3 DL2 DH1 DHO N94 nand4P
Xnand4X1P_5 DL3 DH2 DL1 DLO N101 nand4P
Xnand4X1P_6 DL3 DH2 DL1 DHO N108 nand4P
Xnand4X1P_7 DL3 DH2 DH1 DLO N115 nand4P
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Xnand4X1P_8 DL3 DH2 DH1 DHO N122 nand4P
Xnand4X1P_9 DH3 DL2 DL1 DLO N129 nand4P
Xnand4X1P_10 DH3 DL2 DL1 DHO N136 nand4P
.ENDS

.SUBCKT nand4PBF A B CD Y
M1 Y D 1 N1 nchl L=0.14u W=1.08u M=1

M2 1 C 2 N2 nchl L=0.14u W=1.08u M=1
M3 2 B 3 N3 nchl L=0.14u W=1.08u M=1

M4 3 A VSS1 N4 nchl L=0.14u W=1.08u M=1
M5 Y A VDD1 N5 pchl L=0.14u W=1.22u M=1
M6 Y B VDD1 N6 pchl L=0.14u W=1.22u M=1
M7 Y C VDD1 N7 pchl L=0.14u W=1.22u M=1
M8 Y D VDD1 N8 pchl L=0.14u W=1.22u M=1
.ENDS

.SUBCKT invl A Y

M1 Y A VSS VSS nchl L=0.14u W=0.85u M=1
M2 Y A VDD VDD pchl L=0.14u W=1.6u M=1
.ENDS

.SUBCKT invliP A Y

M1 Y A VSS1 VSS1 nchl L=0.14u W=0.85u M=1
M2 Y A VDD1 VDD1 pchl L=0.14u W=1.6u M=1
.ENDS

.SUBCKT inv4P A Y

M1 Y A V3881 VSS1 nchl L=0.14u W=3.36u M=1
M2 Y A VDD1 VDD1 pchl L=0.14u W=6.4u M=1
.ENDS

.SUBCKT invlS A Y

M1 N3 A VSS1 VSS1 nchl L=0.14u W=0.85u M=1
M2 Y A N3 VSS1 nchl L=0.14u W=0.85u M=1

M3 Y A N8 VDD1 pchl L=0.14u W=1.6u M=1

M4 N8 A VDD1 VDD1 pchl L=0.14u W=1.6u M=1
M5 VDD1 Y N3 VSS1 nchl L=0.84u W=0.85u M=1
M6 VSS1 Y N8 VDD1 pchl L=0.84u W=1.6u M=1
.ENDS

.SUBCKT inv1SBF A Y

M1 N9 A VSS1 N3 nchl L=0.14u W=0.85u M=1
M2 Y A N9 N4 nchl L=0.14u W=0.85u M=1
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M3 Y A N2 N7 pchl L=0.14u W=1.6u M=1

M4 N2 A VDD1 N1 pchl L=0.14u W=1.6u M=1
M5 VDD1 Y N9 N5 nchl L=0.84u W=0.85u M=1
M6 VSS1 Y N2 N6 pchl L=0.84u W=1.6u M=1
.ENDS

.SUBCKT inv1iPBF A Y

M1 Y A VSS1 N2 nchl L=0.14u W=0.85u M=1
M2 Y A VDD1 N1 pchl L=0.14u W=1.6u M=1
.ENDS

.SUBCKT inv1BF A Y

M1 Y A VSS N2 nchl L=0.14u W=0.85u M=1
M2 Y A VDD N1 pchl L=0.14u W=1.6u M=1
.ENDS

3 0DooooooIpP

3.1 OUooggno

ooooooooooooOoOoObOO0ooooooboDOOooOoOoOooooo IPOOODOODDOO
gboooobooooboobooooboobooogon
O B3o0o0boobooobooooboooooobobo

CL|I CDll
N VH re N VH e N VH o
= = =
m VM e m VM re m VM re
o~ IIN VL re o~ IIN VL re e+ IIN VL e
=
[
— =
— VH fe | VE e
lI.'l A,
g[:) VM e U)'VM o
i =
o IINm VL te o m VL fe
IIN

U13: 0000000000000

000000000 BIAS(O 14)0BIAS.Q(O 16)0BIAS P(O 17) D 000OBIASOOOOOO

231



000000000000000000000000000000000BIAS.QOOODOO00O0
00000000000000000000000000000000000000 BIAS.POOOO
00000000000 LVDSO0000000000000000000000000

00 0BIAS_HALF(O 15)0BIAS_P_.KALF(DO 18) 000000 BIASOOO BIASPOOOODO
00000000000000000000000000

VDD

° "%
=i
EE]
g = Source-tie
= o VMV
3 =G
2w D
100 uA-500uA M
N> [N 1IN VL VD>
W=5u
L=0.4u

AT

dls
g
oSS r’gﬁ—\

O 14: BIASOO

232



v T
w7
W 7>

0 svid

IIN

Source-tie

B

Source-tie
),

>
(>

VDD

. 09=H
_mm.s omnw\_l_l O ng=é T dww__
Tuou] g ng= od ne=1
Tud _l_.A umnm O . T net
H0T=Y H01=¥ m Rl 23R
< 8
w
w = w
w
2 H_ 9 =
Z
m
L
091 0 ne=
™ — umum. :muw
> N
| = O p
=N
22
o
=4

100 uA-250 uA
B
10 uA-50 uA

0 16: BIAS.QO O
233



a3 233
24 VDD1 41
N
E % . '
& Source-tie transistors
[aF}
o VD
Mo D
100 uA-500 uA C=IlpF
| vy I 1IN VL VLY
W=5u W=5u
L=0.4u Inch nehll L=0.4u
M=4
S
C=1pF E
| o
VL
W=5u _|I W=5u D
L=1u Inchl nchl L=1u
20 M=
Zlo o
=1 N =1
vss1 F’%*‘_\
33 s

0 17: BIAS.POO

£ VDD1 45

:
e

Source-tie transistors

b=
W
e
i
53 @hl
M=
pchl
M=

£
—
= T
:>_ o [a"
o' M D>
100 uA-250 uA C=1pF ﬂ
|
. () [0 v V>
_W=5u W=5u 1IN
L=0.4u nent|[ L0-4u
0 M=
=
=
C=1pF &
I o>
We5u u

- W5
L=1u Inchl nchll L=1u
T0 W=

chl
20

Bl
VSS1 r’fl't‘—\

23 23
g it
=4 =4

O 18: BIAS_P.HALF OO

234



gboooboobooboooobooboob

.SUBCKT BIAS_P_HALF IIN VH VL VM

C1 N1 VL 1pF

C2 IIN VH 1pF

M3 N1 VL VSS1 VSS1 nchl L=1u W=5u M=10
M4 VSS1 VL VSS1 VSS1 nchl L=3u W=5u M=20
M5 VSS1 VM VSS1 VSS1 nchl L=3u W=5u M=20
M6 VH IIN VL VL nchl L=0.4u W=5u M=10

M7 VL VL VSS1 VSS1 nchl L=1u W=5u M=10
M8 IIN IIN N1 N1 nchl L=0.4u W=5u M=10
M9 VDD1 VH VDD1 VDD1 pchl L=3u W=5u M=60
M10 VDD1 VM VDD1 VDD1 pchl L=3u W=5u M=60
Mi1 VH VH VDD1 VDD1 pchl L=1u W=5u M=30
R12 VDD1 VM 10K TC=0.0, 0.0

R13 VM VSS1 10K TC=0.0, 0.0

.ENDS

.SUBCKT BIAS_HALF IIN VH VL VM

C1 N1 VL 1pF

C2 IIN VH 1pF

M3 N1 VL VSS VSS nchl L=1u W=5u M=10
M4 VSS VL VSS VSS nchl L=3u W=5u M=20
M5 VSS VM VSS VSS nchl L=3u W=5u M=20
M6 VH IIN VL VL nchl L=0.4u W=5u M=10
M7 VL VL VSS VSS nchl L=1u W=5u M=10
M8 IIN IIN N1 N1 nchl L=0.4u W=5u M=10
M9 VDD VH VDD VDD pchl L=3u W=5u M=60
M10 VDD VM VDD VDD pchl L=3u W=5u M=60
Mi1 VH VH VDD VDD pchl L=1u W=5u M=30
R12 VDD VM 10K TC=0.0, 0.0

R13 VM VSS 10K TC=0.0, 0.0

.ENDS

.SUBCKT BIAS IIN VH VL VM

Cl1 N1 VL 1pF

C2 IIN VH 1pF

M3 N1 VL VSS VSS nchl L=1u W=b5u M=20
M4 VSS VL VSS VSS nchl L=3u W=b5u M=20
M5 VSS VM VSS VSS nchl L=3u W=5u M=20
M6 VH IIN VL VL nchl L=0.4u W=b5u M=20
M7 VL VL VSS VSS nchl L=1u W=b5u M=20
M8 IIN IIN N1 N1 nchl L=0.4u W=5u M=20
M9 VDD VH VDD VDD pchl L=3u W=5u M=60
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M10 VDD VM VDD VDD pchl L=3u W=b5u M=60
M11 VH VH VDD VDD pchl L=1u W=5u M=60
R12 VDD VM 10K TC=0.0, 0.0

R13 VM VSS 10K TC=0.0, 0.0

.ENDS

.SUBCKT BIAS_P IIN VH VL VM

C1 N1 VL 1pF

C2 IIN VH 1pF

M3 N1 VL VSS1 VSS1 nchl L=1u W=5u M=20
M4 VSS1 VL VSS1 VSS1 nchl L=3u W=5u M=20
M5 VSS1 VM VSS1 VSS1 nchl L=3u W=5u M=20
M6 VH IIN VL VL nchl L=0.4u W=5u M=20

M7 VL VL VSS1 VSS1 nchl L=1u W=5u M=20
M8 IIN IIN N1 N1 nchl L=0.4u W=5u M=20
M9 VDD1 VH VDD1 VDD1 pchl L=3u W=5u M=60
M10 VDD1 VM VDD1 VDD1 pchl L=3u W=5u M=60
Mi1 VH VH VDD1 VDD1 pchl L=1u W=5u M=60
R12 VDD1 VM 10K TC=0.0, 0.0

R13 VM VSS1 10K TC=0.0, 0.0

.ENDS

.SUBCKT BIAS_Q IIN VH VL VM

C1 N1 VL 1pF

C2 IIN VH 1pF

M3 N1 VL VSS VSS nchl L=1u W=1u M=10
M4 VSS VL VSS VSS nchl L=3u W=5u M=20
M5 VSS VM VSS VSS nchl L=3u W=5u M=20
M6 VH IIN VL VL nchl L=0.4u W=1u M=10
M7 VL VL VSS VSS nchl L=1u W=1u M=10
M8 IIN IIN N1 N1 nchl L=0.4u W=1u M=10
M9 VDD VH VDD VDD pchl L=3u W=5u M=60
M10 VDD VM VDD VDD pchl L=3u W=5u M=60
Mi1 VH VH VDD VDD pchl L=1u W=3u M=10
R12 VDD VM 10K TC=0.0, 0.0

R13 VM VSS 10K TC=0.0, 0.0

.ENDS
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.SUBCKT OP1_HALF AOUT INP VL

M1 N36 INP N34 N34 nchl L=1u W=5u M=10
M2 AQOUT AOUT N34 N34 nchl L=1u W=b5u M=10
M3 N34 N33 VSS VSS nchl L=1u W=b5u M=20
M4 VSS N33 VSS VSS nchl L=3u W=5u M=40
M5 INP VSS VSS VSS nchl L=1u W=b5u M=1
M6 AQOUT N36 VDD VDD pchl L=1u W=b5u M=30
M7 N36 N36 VDD VDD pchl L=1u W=5u M=30
M8 INP VDD VDD VDD pchl L=1u W=b5u M=3
R9 VL N33 10K TC=0.0, 0.0

.ENDS

.SUBCKT PR_2_HALF AIN AQUT CAS VH VL VM
M1 N40 AIN VSS VSS nchl L=0.5u W=b5u M=180
M2 CAS N38 N40 N40 nchl L=0.4u W=5u M=5
M3 AOUT N62 VSS VSS nchl L=1u W=5u M=2

M4 VSS N62 VSS VSS nchl L=3u W=b5u M=20

M5 VDD CAS AOUT AOUT nchl L=0.16u W=bu M=2
M6 N38 N40 VSS VSS nchl L=1u W=5u M=5

M7 N34 N36 VDD VDD pchl L=1u W=5u M=3

M8 CAS N39 N34 N34 pchl L=0.4u W=b5u M=3
M9 VDD N36 VDD VDD pchl L=3u W=b5u M=60
M10 VDD N39 VDD VDD pchl L=3u W=5u M=60
M11 N35 N36 VDD VDD pchl L=1u W=bu M=27
M12 N40 N39 N35 N35 pchl L=0.4u W=b5u M=27
M13 N33 N36 VDD VDD pchl L=1u W=5u M=3
M14 N38 N39 N33 N33 pchl L=0.4u W=5u M=3
R15 VH N36 10K TC=0.0, 0.0

R16 VM N39 10K TC=0.0, 0.0

R17 VL N62 10K TC=0.0, 0.0

.ENDS

.SUBCKT PR_1_HALF AIN AQUT CAS VH VL VM

M1 N39 AIN VSS VSS nchl L=0.5u W=5u M=180
M2 CAS N38 N39 N39 nchl L=0.4u W=5u M=5

M3 VSS N38 VSS VSS nchl L=3u W=b5u M=20

M4 AQUT N56 VSS VSS nchl L=1u W=bu M=2

M5 VSS N56 VSS VSS nchl L=3u W=b5u M=20

M6 VDD CAS AOUT AOUT nchl L=0.16u W=b5u M=2
M7 N34 N36 VDD VDD pchl L=1u W=b5u M=3

M8 CAS N37 N34 N34 pchl L=0.4u W=5u M=3

M9 VDD N36 VDD VDD pchl L=3u W=5u M=60
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M10 VDD N37 VDD VDD pchl L=3u W=b5u M=60
M11 N35 N36 VDD VDD pchl L=1u W=bu M=27
M12 N39 N37 N35 N35 pchl L=0.4u W=5u M=27
R13 VH N36 10K TC=0.0, 0.0

R14 VM N37 10K TC=0.0, 0.0

R15 VM N38 10K TC=0.0, 0.0

R16 VL N56 10K TC=0.0, 0.0

.ENDS

.SUBCKT 0OP1 AOUT INP VL

M1 N36 INP N33 N33 nchl L=1u W=b5u M=20
M2 AQUT AOUT N33 N33 nchl L=1u W=5u M=20
M3 N33 N34 VSS VSS nchl L=1u W=b5u M=40
M4 VSS N34 VSS VSS nchl L=3u W=5u M=40
M5 INP VSS VSS VSS nchl L=1u W=5u M=2
M6 AQOUT N36 VDD VDD pchl L=1u W=b5u M=60
M7 N36 N36 VDD VDD pchl L=1u W=b5u M=60
M8 INP VDD VDD VDD pchl L=1u W=5u M=6
R9 VL N34 10K TC=0.0, 0.0

.ENDS

.SUBCKT PR_1 AIN AOUT CAS VH VL VM

M1 N35 AIN VSS VSS nchl L=0.5u W=5u M=360
M2 CAS N39 N35 N35 nchl L=0.4u W=5u M=10
M3 VSS N39 VSS VSS nchl L=3u W=b5u M=20

M4 AOUT N36 VSS VSS nchl L=1u W=5u M=2

M5 VSS N36 VSS VSS nchl L=3u W=b5u M=20

M6 VDD CAS AOUT AOUT nchl L=0.16u W=b5u M=2
M7 N40 N38 VDD VDD pchl L=1u W=5u M=6

M8 CAS N37 N40 N40 pchl L=0.4u W=5u M=6
MO VDD N38 VDD VDD pchl L=3u W=5u M=60
M10 VDD N37 VDD VDD pchl L=3u W=b5u M=60
M11 N34 N38 VDD VDD pchl L=1u W=5u M=54
M12 N35 N37 N34 N34 pchl L=0.4u W=5u M=54
R13 VH N38 10K TC=0.0, 0.0

R14 VM N37 10K TC=0.0, 0.0

R15 VM N39 10K TC=0.0, 0.0

R16 VL N36 10K TC=0.0, 0.0

.ENDS

.SUBCKT PR_2 AIN AOUT CAS VH VL VM
M1 N38 AIN VSS VSS nchl L=0.5u W=b5u M=360
M2 CAS N34 N38 N38 nchl L=0.4u W=5u M=10
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M3 AQUT N41 VSS VSS nchl L=1u W=bu M=2

M4 VSS N41 VSS VSS nchl L=3u W=b5u M=20

M5 VDD CAS AQOUT AOUT nchl L=0.16u W=5u M=2
M6 N34 N38 VSS VSS nchl L=1u W=5u M=10

M7 N37 N40 VDD VDD pchl L=1u W=b5u M=6

M8 CAS N39 N37 N37 pchl L=0.4u W=5u M=6
M9 VDD N40 VDD VDD pchl L=3u W=5u M=60
M10 VDD N39 VDD VDD pchl L=3u W=5u M=60
M11 N33 N40 VDD VDD pchl L=1u W=bu M=54
M12 N38 N39 N33 N33 pchl L=0.4u W=5u M=54
M13 N36 N40 VDD VDD pchl L=1u W=5u M=6
M14 N34 N39 N36 N36 pchl L=0.4u W=5u M=6
R15 VH N40 10K TC=0.0, 0.0

R16 VM N39 10K TC=0.0, 0.0

R17 VL N41 10K TC=0.0, 0.0

.ENDS
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.SUBCKT FB6 VIN1 VIN2 VLADJ
M1 VIN2 N1 VSS VSS nchl L=1u W=1u M=1
M2 VSS N1 VSS VSS nchl L=3u W=b5u M=20
M3 VIN2 VSS VIN1 VIN1 pchl L=1u W=0.5u M=1
R4 VLADJ N1 10K TC=0.0, 0.0
.ENDS

.SUBCKT FB4_B VH VIN1 VIN2 VL VLADJ

C1 AA BB 0.12pF

C2 BB CC 0.12pF

C3 CC N33 0.12pF

.ic v(AA,BB)=0 v(AA,CC)=0

M4 VIN2 N36 VSS VSS nchl L=1u W=1u M=1
M5 VDD VIN1 N37 N37 nchl L=0.16u W=0.5u M=1
M6 N33 N33 N37 N37 nchl L=1u W=0.5u M=1
M7 AA N33 VIN2 VIN2 nchl L=1u W=0.5u M=1
M8 N37 N34 VSS VSS nchl L=1u W=10u M=1
M9 VSS N36 VSS VSS nchl L=3u W=bu M=60
M10 VSS N34 VSS VSS nchl L=3u W=bu M=20
M11 N37 N36 VSS VSS nchl L=1u W=1u M=1
M12 AA N35 VDD VDD pchl L=1u W=3u M=1
M13 VDD N35 VDD VDD pchl L=3u W=b5u M=60
M14 N33 N35 VDD VDD pchl L=1u W=3u M=1
R15 VH N35 10K TC=0.0, 0.0

R16 VL N36 10K TC=0.0, 0.0

R17 VLADJ N34 10K TC=0.0, 0.0

.ENDS

.SUBCKT FB4_A VH VIN1 VIN2 VL VLADJ

M1 VIN2 N33 VSS VSS nchl L=1u W=1u M=1

M2 VDD VIN1 N38 N38 nchl L=0.16u W=0.5u M=1
M3 N36 N36 N38 N38 nchl L=1u W=0.5u M=1
M4 N37 N36 VIN2 VIN2 nchl L=1u W=0.5u M=1
M5 N38 N34 VSS VSS nchl L=1u W=10u M=1

M6 VSS N33 VSS VSS nchl L=3u W=5u M=20

M7 VSS N34 VSS VSS nchl L=3u W=5u M=20

M8 N38 N33 VSS VSS nchl L=1u W=1u M=1

M9 N37 N35 VDD VDD pchl L=1u W=3u M=1

M10 VDD N35 VDD VDD pchl L=3u W=b5u M=60
M11 N36 N35 VDD VDD pchl L=1u W=3u M=1
R12 VH N35 10K TC=0.0, 0.0

R13 VL N33 10K TC=0.0, 0.0
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R14 VLADJ N34 10K TC=0.0, 0.0
.ENDS

.SUBCKT FB1 IOUT VH VIN1 VIN2 VL

M1
M2
M3
M4
M5
M6
M7
M8
M9

N37 N39 VDD VDD pchl L=1u W=3u M=2
N34 N35 VSS VSS nchl L=1u W=1lu M=2
VSS N35 VSS VSS nchl L=3u W=bu M=20
I0UT N40 VSS VSS nchl L=1u W=1u M=1
N40 N40 VSS VSS nchl L=1u W=1u M=1
N40 VIN1 N37 N37 pchl L=1u W=1u M=1
I0UT N33 N38 N38 pchl L=1lu W=1u M=1
VDD N39 VDD VDD pchl L=3u W=5u M=60
N38 N39 VDD VDD pchl L=1u W=3u M=2

M10 N34 N34 N37 N37 pchl L=1u W=1lu M=1
M11 N34 N34 N38 N38 pchl L=1u W=1lu M=1
R12 VL N35 10K TC=0.0, 0.0

R13 N33 VIN2 10K TC=0.0, 0.0

R14 VH N39 10K TC=0.0, 0.0

.ENDS
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.SUBCKT DIFA_F_HALF AIN AOUT BIN BOUT VH VL
M1 AOUT BIN N36 N36 nchl L=1u W=bu M=4
M2 N36 N33 VSS VSS nchl L=1u W=bu M=4
M3 N36 N33 VSS VSS nchl L=1u W=5u M=4
M4 BOUT AIN N36 N36 nchl L=1u W=5u M=4
M5 VSS N33 VSS VSS nchl L=3u W=b5u M=20
M6 AQOUT N34 VDD VDD pchl L=1u W=bu M=12
M7 BOUT N34 VDD VDD pchl L=1u W=5u M=12
M8 VDD N34 VDD VDD pchl L=3u W=b5u M=60
R9 VH N34 10K TC=0.0, 0.0

R10 VL N33 10K TC=0.0, 0.0

R11 AOUT VDD 30K TC=0.0, 0.0

R12 VSS AOUT 30K TC=0.0, 0.0

R13 BOUT VDD 30K TC=0.0, 0.0

R14 VSS BOUT 30K TC=0.0, 0.0

.ENDS

.SUBCKT DIFA_M_HALF AIN AOUT BIN BOUT VH VL
C1 AOUT BOUT O.2pF

M2 AOUT BIN N33 N33 nchl L=1u W=5u M=4

M3 N37 N36 VSS VSS nchl L=1u W=bu M=4

M4 N33 N36 VSS VSS nchl L=1u W=b5u M=4

M5 BOUT AIN N37 N37 nchl L=1u W=5u M=4

M6 VSS N36 VSS VSS nchl L=3u W=b5u M=20

M7 AQOUT N34 VDD VDD pchl L=1u W=bu M=12

M8 BOUT N34 VDD VDD pchl L=1u W=5u M=12

M9 VDD N34 VDD VDD pchl L=3u W=5u M=60

R10 N33 N37 2K TC=0.0, 0.0
R11 VH N34 10K TC=0.0, 0.0
R12 VL N36 10K TC=0.0, 0.0
R13 AOUT VDD 30K TC=0.0, O
R14 VSS AOUT 30K TC=0.0, O.
R15 BOUT VDD 30K TC=0.0, O
R16 VSS BOUT 30K TC=0.0, O
.ENDS

o O O O

.SUBCKT DIFA_S_HALF AIN AOUT BIN BOUT VH VL
C1 AOUT BOUT 1pF

M2 AOUT BIN N33 N33 nchl L=1u W=bu M=4

M3 N37 N36 VSS VSS nchl L=1u W=b5u M=4

M4 N33 N36 VSS VSS nchl L=1u W=5u M=4

M5 BOUT AIN N37 N37 nchl L=1u W=5u M=4
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M6 VSS N36 VSS VSS nchl L=3u W=b5u M=20
M7 AQOUT N34 VDD VDD pchl L=1u W=bu M=12
M8 BOUT N34 VDD VDD pchl L=1u W=5u M=12
M9 VDD N34 VDD VDD pchl L=3u W=5u M=60
R10 N33 N37 2K TC=0.0, 0.0
R11 VH N34 10K TC=0.0, 0.0
R12 VL N36 10K TC=0.0, 0.0
R13 AOUT VDD 30K TC=0.0, O
R14 VSS AOUT 30K TC=0.0, O.
R15 BOUT VDD 30K TC=0.0, O
R16 VSS BOUT 30K TC=0.0, O
.ENDS

o O O O

.SUBCKT ACC ADC AIN AQUT BDC BIN BOUT RB
C1 AIN AOUT 1pF

C2 BIN BOUT 1pF

M3 AOUT RB ADC ADC pchl L=1u W=3u M=1

M4 BDC RB BOUT BDC pchl L=1u W=3u M=1
.ENDS

.SUBCKT DIFA_F AIN AOUT BIN BOUT VH VL
M1 AOUT BIN N34 N34 nchl L=1u W=5u M=8
M2 N34 N36 VSS VSS nchl L=1u W=5u M=8
M3 N34 N36 VSS VSS nchl L=1u W=b5u M=8
M4 BOUT AIN N34 N34 nchl L=1u W=5u M=8
M5 VSS N36 VSS VSS nchl L=3u W=b5u M=20
M6 AQOUT N33 VDD VDD pchl L=1u W=bu M=24
M7 BOUT N33 VDD VDD pchl L=1u W=bu M=24
M8 VDD N33 VDD VDD pchl L=3u W=5u M=60
R9 VH N33 10K TC=0.0, 0.0

R10 VL N36 10K TC=0.0, 0.0

R11 AOUT VDD 30K TC=0.0, 0.0

R12 VSS AQUT 30K TC=0.0, 0.0

R13 BOUT VDD 30K TC=0.0, 0.0

R14 VSS BOUT 30K TC=0.0, 0.0

.ENDS

.SUBCKT DIFA_M AIN AQUT BIN BOUT VH VL
C1 AOUT BOUT 0.2pF

M2 AQUT BIN N37 N37 nchl L=1u W=5u M=8
M3 N35 N34 VSS VSS nchl L=1u W=5u M=8
M4 N37 N34 VSS VSS nchl L=1u W=5u M=8
M5 BOUT AIN N35 N35 nchl L=1u W=5u M=8
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M6 VSS N34 VSS VSS nchl L=3u W=b5u M=20

M7 AQOUT N33 VDD VDD pchl L=1u W=bu M=24
M8 BOUT N33 VDD VDD pchl L=1u W=5u M=24
M9 VDD N33 VDD VDD pchl L=3u W=5u M=60

R10 N37 N35 2K TC=0.0, 0.0
R11 VH N33 10K TC=0.0, 0.0

R12 VL N34 10K TC=0.0, 0.0

R13 AOUT VDD 30K TC=0.0, O
R14 VSS AOUT 30K TC=0.0, O.
R15 BOUT VDD 30K TC=0.0, O
R16 VSS BOUT 30K TC=0.0, O
.ENDS

o O O O

.SUBCKT DIFA_S AIN AOUT BIN BOUT VH VL
C1 AOUT BOUT 1pF

M2 AOUT BIN N37 N37 nchl L=1u W=bu M=8
M3 N35 N34 VSS VSS nchl L=1u W=b5u M=8
M4 N37 N34 VSS VSS nchl L=1u W=5u M=8
M5 BOUT AIN N35 N35 nchl L=1u W=5u M=8
M6 VSS N34 VSS VSS nchl L=3u W=b5u M=20
M7 AOUT N33 VDD VDD pchl L=1u W=bu M=24
M8 BOUT N33 VDD VDD pchl L=1u W=5u M=24
M9 VDD N33 VDD VDD pchl L=3u W=5u M=60
R10 N37 N35 2K TC=0.0, 0.0
R11 VH N33 10K TC=0.0, 0.0
R12 VL N34 10K TC=0.0, 0.0
R13 AOUT VDD 30K TC=0.0, O
R14 VSS AOUT 30K TC=0.0, O.
R15 BOUT VDD 30K TC=0.0, O
R16 VSS BOUT 30K TC=0.0, O
.ENDS

o O O O

.SUBCKT DIFA_TH AIN AQUT BIN BOUT VH VL
M1 AOUT N38 N39 N39 nchl L=1u W=5u M=2
M2 VSS N37 VSS VSS nchl L=3u W=b5u M=20
M3 N39 N34 VSS VSS nchl L=1u W=bu M=2
M4 N36 N34 VSS VSS nchl L=1u W=5u M=2
M5 BOUT N37 N36 N36 nchl L=1u W=5u M=2
M6 VSS N38 VSS VSS nchl L=3u W=b5u M=20
M7 VSS N34 VSS VSS nchl L=3u W=5u M=20
M8 AOUT N33 VDD VDD pchl L=1u W=5u M=6
M9 BOUT N33 VDD VDD pchl L=1u W=b5u M=6
M10 VDD N33 VDD VDD pchl L=3u W=b5u M=60

254



R11 VH N33 10K TC=0.0, 0.0
R12 N39 N36 30K TC=0.0, 0.0
R13 VL N34 10K TC=0.0, 0.0
R14 BIN N38 10K TC=0.0, 0.0
R15 N37 AIN 10K TC=0.0, 0.0
.ENDS

.SUBCKT invlS A Y

M1 N3 A VS8S1 VSS1 nchl L=0.14u W=0.85u M=1
M2 Y A N3 VSS1 nchl L=0.14u W=0.85u M=1

M3 Y A N8 VDD1 pchl L=0.14u W=1.6u M=1

M4 N8 A VDD1 VDD1 pchl L=0.14u W=1.6u M=1
M5 VDD1 Y N3 VSS1 nchl L=0.84u W=0.85u M=1
M6 VSS1 Y N8 VDD1 pchl L=0.84u W=1.6u M=1
.ENDS

.SUBCKT inv4P A Y

M1 Y A VSS1 VSS1 nchl L=0.14u W=3.36u M=1
M2 Y A VDD1 VDD1 pchl L=0.14u W=6.4u M=1
.ENDS

.SUBCKT DIF_COMP AIN BIN DOUT VL
Xinv1S_1 N34 N35 invi1S

Xinv4P_1 N35 DOUT inv4P

M1 VSS1 N38 VSS1 VSS1 nchl L=3u W=b5u M=20
M2 N36 BIN N37 N37 nchl L=0.14u W=bu M=4
M3 N37 N38 VSS1 VSS1 nchl L=1u W=bu M=4
M4 N33 AIN N37 N37 nchl L=0.14u W=bu M=4
M5 N40 N40 VSS1 VSS1 nchl L=1u W=bu M=2
M6 N34 N40 VSS1 VSS1 nchl L=1u W=bu M=2
M7 N33 N33 VDD1 VDD1 pchl L=1u W=b5u M=2
M8 N36 N36 VDD1 VDD1 pchl L=1u W=b5u M=2
M9 N34 N36 VDD1 VDD1 pchl L=1u W=bu M=2
M10 N40 N33 VDD1 VDD1 pchl L=1u W=bu M=2
R11 VL N38 10K TC=0.0, 0.0

.ENDS
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.SUBCKT SWO IN ON OUT

Xinvli_1 ON N1 invil

M1 OUT ON N2 VSS nchl L=1u W=1lu M=1
M2 N2 N1 VSS VSS nchl L=1u W=1u M=10
M3 N2 ON IN VSS nchl L=1u W=1u M=1
M4 OUT N1 N2 VDD pchl L=1u W=3u M=1
M5 N2 N1 IN VDD pchl L=1u W=3u M=1
.ENDS

.SUBCKT SW1 IN ON OUT

Xinvli_1 ON N2 invil

M1 OUT ON IN VSS nchl L=1u W=bu M=20
M2 OUT N2 IN VDD pchl L=1u W=b5u M=60
.ENDS
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